Bridging boundaries
by counting back in

2300 - 300 - 500 = 1500
_s00  -300

Find the difference
between two numbers

Count on 5 from
395 to 4000, then 7 more
so the difference between

themis 6 +7 = 12

Take away 2000 then add 1
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1500 2000 2300

3543 - 1216
Exchanging tens
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If the ones digit in the minuend is
less than the ones digit in the
subtrahend, T need to exchange
1 ten for 10 ones.

4007 3451 34652 5451
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3343 - 1756
Exchanging in multiple
columns

108

3543 - 835
Different numbers of digits

Line up the ones
with the ones, the
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tens with the tens,

6=6+0

+1
6=4+2
6=5+3
6=2+4
6=1+456
6=0+6

Round then adjust Find the difference
between two numbers

63462 + 19999 - 0,007 - 5
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Take away 1 then add 1 thousandth
=
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230 - 80
(e Fod e afrence
emcienr? steps between two numbers

Take away 200 then add 1
- 200

230 - 30 - 50 = 160
-50 -80

IfTknow 5-2=3
then I also know
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66-19
Round then adjust
346 - 127 345- 15 1567 Subtract 20 thenadd 1 |
Exchanging tens Exchanging in muttiple : n . ® a
columns Different numbers of digits T
100s | 10s

Find the difference between
two r\umbers
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52-47=0)
218

@eO=E - 52 - 47 is ot equal to 47 - 52
Line up the ones 3 ,: Subtraction is not commutative
with the ones, the
tens with the tens,

ooooeezE | 5
ooooZ ZF
oooooEEE | B
0ooog g

7=7+0| QOOOOOO |7-0= :
7=6+1 OOOOOO. 7-1= G0000000000000000
e 5 00000000000
7=:+2) 000000® |7-2- s | et
7=443 3= ' L : s=i241
7-5+4| GOOOOOO g | » < f ;
7=2+5| QO000O®® |"-5= | : s : 222 [ SIE @0 ot | (e
72146 OOOOOO® |75 - Ik : : 1 o0 | {
. (= al
7=0+7 QOO0O®® |"-7= 7 ; 22531 g0 thewhoe

Q00000

|

If I know
. 5§+4=9
8 is the whole ' i then T dlso know
Bi3apE ey : ; : ; SRR
6is a part 161 the whole
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